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1
Decision/action requested

To decide the priority and solve the conflict when several advanced alarm management rules are active.
2
References

TR 30.818
Telecommunication management; Project scheduling and open issues for SA5, Release 8 




Work Item Description:
Advanced Alarming on Itf-N  UID 35053

TS 32.122 V1.0.0 Advanced Alarm Management Information Service
3
Rationale

When several advanced alarm management rules are active, are there some priorities? Meanwhile, there will be some conflict of the rules, how to solve it?
4
Detailed proposal

As to the AdvancedAlarmManagementIRPOperation_1 in TS32.122 V100, it defines four optional operations,  including activateThresholdRule (O)、activateTransientRule (O)、activateToggleRule (O) and activateVendorSpecificRule (O). When several advanced alarm management rules are active synchronously, are there some priorities? Meanwhile, there will be some conflict of the rules, how to solve it? 

For example, three operations are active, which are activateThresholdRule, activateToggleRule and activateTransientRule. The following Table 1 shows three operations and the corresponding input parameters. The raised and reported time according to three advanced alarm management rules are illustrated respectively in Figure 1. Howerver, the conflict exists, when should the Agent emit the notifyNewAlarm and notifyClearedAlarm exactly? Are there some priorities?
Table 1: Three actived advanced alarm rules and corresponding input parameters

	Operations
	Input parameter(s)

	activateThresholdRule(O)
	slidingTimeWindow=T1=3s,

alarmOccurenceThreshold=N=3

	activateToggleRule(O)
	slidingTimeWindowTogglingStarted=T1=3s, slidingTimeWindowTogglingSettled=4s,

alarmOccurenceThreshold=N=3

	activateThresholdRule(O)
	timeSpan=T3=1.5s
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Figure 1: ThresholdRule/ToggleRule/TransientRule are active synchronously 
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